1. Read the text. Then cover it and match the sentence halves.

a. Germany is much 1. Istanbul.

b. In Istanbul it was sunny 2. than Istanbul.

C. It is greener 3. crowded than here.
d. It is safer than 4. and much warmer.

e. Istanbul is more 5. colder tham Turkey.

2. Write true (T) or false (F).

a. Turkey is warmer than Germany. ........cccees

b. It is safer to cycle in Turkey than Germany. ...,

€. There are more street animals in Istanbul than in Germany. ...,
d. It was sunny and warm in Germany today. .......cccccee..

e. The writer is staying in a really noisy place. .................



